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Year 11 Semester 1 2021

ECONOMICS

Marking Key and Sample Answers















Section 1: Multiple-choice	24% (24 Marks)
This section has 24 questions. Answer all questions on the separate Multiple-choice answer
sheet provided. 
Suggested working time: 30 minutes
______________________________________________________________________________


1. A market is any situation where buyers and sellers

(a)	exchange goods, services or resources
(b)	display and sell goods, services or resources.
(c)	can meet to exchange goods and services.
(d)	can acquire goods and services to satisfy their needs and wants.

2.       The factor market is where households provide firms with
(a) labour and receive profit.
(b) goods and services and receive income.
(c) resources and receive goods and services.
(d) resources and receive income.

3.       A freely operating price mechanism will result in

	(a)	an efficient allocation of scarce resources.
	(b)	stable prices in markets.
	(c)	greater equality of real incomes due to lower prices.
	(d)	higher profits and greater government taxation revenue.


4.	The Law of Supply suggests that the

(a)	quantity produced will expand as price falls.
(b)	price will rise when there is an increase in quantity supplied.
(c)	quantity supplied will expand when there is a price rise.
(d)	price will fall when there is a decrease in quantity supplied.


5.	If brands A and B are substitutes then an increase in the price of A will

(a)	decrease the demand for B.
(b)	increase the demand for A.
(c)	increase the demand for B.
	(d)	not affect the demand for B.


See next page





6.      The following diagram illustrates the market for primary school level education. 

		Price
			D
			D1			S





						D

					D1

						Quantity

         The shift in demand from D to D1 is best explained by

(a)	a decrease in the number of young families.
(b)	an increase in government spending on education. 
(c)	a decrease the availability of primary school teachers.
(d)	an increase in government spending on hospitals rather than schools.


7.	If a shortage exists in a market, it can be predicted that

(a)	the price will rise.
(b)	the price will fall.
(c)	producers will decrease supply.
(d)	demand will expand.


8.	Which of the following would not result in a shift to the right of the supply curve?

(a)	Cheaper raw materials used in production
(b)	Higher wages paid to workers
(c)	Higher profits encourage other producers to enter the market.
(d)	An improvement in the relevant production technology


9.	Advertising is used by competitive firms to

(a)	shift the demand curve to the left and make it more elastic.
(b)	shift the demand curve to the left and make it more inelastic.
(c)	shift the demand curve to the right and make it more elastic.
(d)	shift the demand curve to the right and make it more inelastic.





See next page

10.     What would be the most likely reason for total revenue rising when a firm increased the price it charged?

(a)	  The good was a very expensive luxury item. 
	(b)	  Consumers had time to adjust their spending patterns. 
	(c)	  The good had very few substitutes.
	(d)	  Firms were easily able to access stocks in warehouses.


11.	If the price elasticity of demand for a good is 1.9 then

(a)	  a reduction in the price will result in a relatively weak demand response.
	(b)	  a price rise will result in an increase in total revenue.
	(c)	  a price rise will result in an increase in supply.
	(d)	  an increase in total revenue is likely to result from a reduction in price.


12.	Which of the following best explains the relative increase in the price elasticity of petrol over time.

	(a)	 A general rise in income levels
(b)	 A decline in the discovery of new major oil fields
(c)	 An increase in the number of substitutes available to consumers
(d)	 An increase in price due to new taxes on petrol production


13.	Which of the following is an example of price discrimination?

(a) Firms charge lower prices for customers with inelastic demand.
(b)    Firms charge higher prices for customers with elastic demand.
(c)	 Firms charge higher prices for customers with inelastic demand. 
(d)	 Firms do not change the price regardless of market conditions.


14.	If the price of Tesla shares rises from $650 to $700 and this causes sellers to offer 5% more shares for sale than in the previous day’s trading. We can therefore assume that over this price range supply is

(a)	 relatively inelastic with coefficient of 0.65
(b)	 relatively elastic with a coefficient of 1.42
(c)	 relatively inelastic with a coefficient of 0.1
(d)	 relatively elastic with a coefficient of 1.54


15.	If supply is perfectly inelastic and demand decreases then the price will

(a)	 fall and the quantity is unchanged.
(b)	 rise and the quantity is unchanged.
(c)	 fall and the quantity will rise.
(d)	 rise and the quantity will fall.

See next page
16.    Calculate the actual price paid for a good if the customer receives a consumer surplus of $10, 
	but they were willing to pay $25.

(a)	$35
(b)	$15
(c)	$10
(d)	$25


17.     The government modifies the effects of the price mechanism because 

(a)	incorrect signals are sent to producers regarding supply.
(b)	planned economies are more efficient in the allocation of scarce resources.
(c)	some basic social needs will not be provided.
(d)	prices are usually too low for producers to earn a profit.


18.     Collusion by firms is anti-competitive behaviour because it involves

(a)	smaller firms merging to reduce competition in the market.
(b)	agreements on prices reducing competition and forcing consumers to pay higher prices.
(c)	a dominant firm under-pricing in order to drive competitors out of the market.
(d)	the market being divided by agreements amongst firms to avoid competition.


19.     A good that is ____________ and _____________ is a _______________.

(a)     rival; excludable; private good
(b)     rival; excludable; public good
(c)     non-rival; excludable; public good
(d)     rival; non-excludable; private good


20.	Externalities are otherwise known as the

(a)	foreign producers external to the domestic market.
(b)	private costs of a firm that are used to pay associated external costs.
(c)	government charges levied on producers.
(d)	side effects of an economic activity.

21.	The ‘Tragedy of the Commons’ occurs because 
(a) 	some resources are non-excludable and rival in consumption.
(b) 	private goods are excludable and rival.
(c) 	public goods are non-excludable and non-rival in consumption.
(d) 	merit goods would not be produced at a reasonable price without government intervention. 
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22.     Imposing a tax on a negative production externality will lead to a 

(a)     reduction in price and an increase in quantity.
(b)     rise in the price and a decrease in quantity.
(c)     rise in the price and an increase in quantity.
(d)     reduction in price and a decrease in quantity. 

23.    If the cross elasticity between goods B and A is -2 and the price of good B increases by 5%, then the :
(a) goods are substitutes and quantity demanded increases by 5%. 
(b) goods are complements and the quantity demanded increases by 10%.
(c) goods are substitutes and quantity demanded decreases by 2%
(d) goods are complements and quantity demanded decreases by 10%
24.     A price ceiling is a 

(a)	maximum price in the market and benefits producers.
(b)	minimum price in the market and benefits producers.
(c)	maximum price in the market and benefits consumers.
(d)     minimum price in the market and benefits consumers.

	







End of Section One
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Section Two: Data interpretation/Short answer	36% (36 Marks)

This section contains three (3) questions. Answer all questions. Write your answers in the
spaces provided.
Suggested working time: 70 minutes.
______________________________________________________________________________

Question 25	(12 marks)
Average – 8 / 12 (68%)
The edited extract below is from an article by Kirsteen Mackay, published online on 25 February 2021.
Will iron ore prices continue to rise?

During February, investment bank Credit Suisse forecast the price of iron ore reaching $150 per tonne in 2021. Two weeks later it had exceeded that and today is around $164. That is the highest it’s been in nearly a decade. The reason for the price rise is increasing demand and decreased supply.

Iron ore is a core component in the production of steel and this product is used extensively in shipbuilding, construction, and manufacturing. The world’s biggest iron ore importer is China, and it is continuing its massive construction boom. However, it is not just China seeing an increase in demand for steel. The US and EU are also in the market for steel and with emerging markets modernising their infrastructure and striving for a middle-class lifestyle, demand for iron ore continues to soar.

The world’s biggest iron ore exporting countries are Australia and Brazil. However, exports of iron ore from Brazil collapsed after an environmental catastrophe in January 2019, when a mining waste dam burst, killing 270 people. 

Higher prices encourage increased production or iron ore. If this happens, then it should offset the supply shortages. Many new iron ore projects are in the pipeline or already underway.

So, will iron ore prices continue to rise? It seems short-term they could, but long-term it will depend on how quickly the supply chains stabilize.

(a) Identify from the article, one demand and one supply factor contributing to the rise in iron ore prices.											 (2 marks)
Comments
· This was an easy question, badly done. You just needed to quote from the article. Must reference directly and accurately from the article
· Must give reason why D and S has caused rise in price of iron ore – incr D and decr S e.g. construction boom in China, EU and US demanded more steel for infrastructure build
· ‘Shipbuilding and construction’ and ‘growth in middle class’ are not acceptable (do not explain rise in price or link to iron ore)
· Must explain how the factor links to iron ore. Iron ore used as key ingredient (with coal) in production of steel. Demanded because infrastructure, construction, manufacturing needs steel. Answers should explain this link.
· Supply factor was done well, D factors was not explained sufficiently in many cases

Marking key
	[bookmark: _Hlk70852272]Description
	Mark

	Demand Factor – Construction boom in China leading to high demand for iron ore to produce steel; US and EU modernising their infrastructure leading to demand for iron ore to produce steel

Supply Factor – Export from Brazil collapsed after an environmental catastrophe in January 2019, when a mining waste dam burst killing 270 people
	
1 mark


1 mark

	TOTAL
	2 marks


(b) Describe and demonstrate the changes in the iron ore market during February.	(4 marks)

Comments
· 50% of students didn’t see the double shift – D incr and S decr. Must read the article carefully.
· Must explain ‘price will increase but Qty change is indeterminate, and will be based on strength of the shifts’ (only 5 students answered this correctly)
· When explaining a model describe in terms of the labelling e.g. D incr D to D1, New eq’n P2Q2
· Many discussed PS, CS and TS and/or discussed efficiency, but this wasn’t what the Q was asking
· Many tried to discuss 4 steps but this was impossible with this question – very complicated and unnecessary explanations

Marking key

	Description
	Mark

	Diagram                                                                                                                                                                  
[image: See the source image]
· 1 mark for D shift with correct labelling
· 1 mark for S shift with correct labelling
Explanation
· Increase in demand D1 to D2 and decrease in supply S1 to S2, New eq’n P2Q2
· Price rises to P2 but size of quantity change depends on size of shifts
	



2 marks









1 mark
1 mark

	TOTAL
	4 marks


























(c) The article indicates that many new iron ore projects are in the pipeline or already underway to offset the potential shortages in the iron ore market in the future.

Use a demand and supply diagram to explain how this will affect the market for iron ore. 
(4 marks)

Comments
· Well Done overall
· Most recognised that S will increase and gave a reason
· Most students able to give 4 step explanation though some lacking in required detail (surplus  price fall  Qty D expands, Qty S contracts  new eq’n)
· Some models did not show surplus in correct position 
· Order of explanation is very important and some are still getting this wrong 

Marking key

	Description
	Mark

	Diagram
[image: See related image detail]
· 1 mark for shift in supply curve
· 1 mark for labelling shift in equilibrium price and quantity
Explanation
· Increase in S  from S to S1, due to reaction to shortage which led to new investment in iron ore projects such as new mines and/or updating technology and equipment.
· Leads to a surplus, price decreases to P1, Qty D expands, Qty S contracts, new eq’n at P1Q1
	




2 marks









2 marks

	TOTAL
	4 marks






















(d) Explain whether the supply of iron ore is likely to be price elastic or inelastic?	(2 marks)

Comments
· Many students able to state it was inelastic but unable to provide a valid explanation of why S is inelastic, many getting this confused with factors affecting elasticity of demand. Reasons cited included:  it is not substitutable, its a necessity good, due to increased demand, key component of manufacturing, essential resource for cities
· S of mining goods is inelastic because the mining process takes time (setting up new mines, build new mine sites, exploring new iron ore deposits etc)

Marking key

	[bookmark: _Hlk73882468]Description
	Mark

	Supply of iron ore is likely to be price inelastic. 
This is due to the nature of the industry. It takes time to expand existing mines or build new mine sites assuming known deposits are used. Further exploration for new mines would take even further time. 
Students may also explain iron ore is elastic and this is acceptable if reason such as stockpiling is provided
	1 mark


1 mark



	TOTAL
	2 marks



Sample Answer
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Question 26										(12 marks)
Average – 7.5/ 12 (63%)
Elasticity in the market for Alcoholic Beverages
Many new laws and policy discussions are related to the consumption of alcoholic beverages.  For example, policies relating to under-age drinking, binge drinking and driving while under the influence of alcohol, have been an important part of the discussion regarding alcohol consumption in Australia. Economists have an important role in this debate. Information on price elasticity of demand and income elasticities, enables policy-makers to predict the impact of new taxes on alcohol consumption.  Use the following predicted estimates of elasticity to answer the questions that follow.

	Price elasticity of demand for beer
	0.82

	Price elasticity of demand for wine
	0.82

	Income elasticity of demand for beer
	1.04

	Income elasticity of demand for wine
	1.25




(a) 	i.   If the wine price rose by 10%, by what percentage would demand for wine fall?    (1 mark)

Comments
· Calculations were good on the whole but some drawing on incorrect elasticity figures from the table – BE CAREFUL !! Don’t be too hasty. Don’t lose these easy marks


Marking key

	Description
	Mark

	Price elasticity of demand = %      Q /        % P. So 0.82    =    X  /  10             
Demand for wine would fall by 8.2%
	1 mark
1 mark


	TOTAL
	2 marks



	ii.  If the quantity of wine demanded rose by 5.4%, as a result of the 10% rise in the price of   
              beer, calculate the cross elasticity of demand. Show your working below.             (2 mark)


Marking key

	Description
	Mark

	Cross elasticity of demand  =    %     Qa  / %      Qb
                                                                            =         5.4 / 10
                                                 =             .54  
	1 mark

1 mark


	TOTAL
	2 marks









(b)	The income elasticity of wine is higher than for beer. Explain what this means and suggest why it is higher for wine compared to beer.                                                                 (2 marks)

Comments
· Learn your definitions - Income elasticity refers to the responsiveness of demand to a change in income. 
· Many getting explanation of Ey wrong: Ey of wine (1.25) is larger than Beer (1.04) so same % change in Y  greater than proportionate change for both but % change in D for wine was greater than % change for beer. Not just that there’s more demand for wine, key word is ‘proportionate’
· Proportion of Y spent is a factor effecting Ed not Yed (its not about how expensive wine is compared to beer though this may affect whether it’s a luxury good)

Marking key

	[bookmark: _Hlk73890704]Description
	Mark

	· Income elasticity refers to the responsiveness of demand to a change in income.  Wine has a higher income elasticity than beer.  This means that demand for wine will increase by a greater proportion than beer as a result of the same percentage change in income.
· The key reason for this is that wine, generally,  is seen as more of a luxury item than beer
	

1 mark

1 mark

	TOTAL
	2 marks



































(c) Assume the State Government has decided to impose a tax on the production of beer. Use the data from the table, to assist in demonstrating and discussing the likely impact of the tax on total surplus and the efficiency of the market.	(6 marks)

Comments
· Models were fine however some students not shading in DWL or creating labelling to enable explanation of change to CS, PS, Tax revenue (Question asked you to ‘Demonstrate and discuss impact on TS’)
· Most students did not ‘use the data from the table to assist), so didn’t consider impact of inelastic Ed. You only lost 1 mark this time. MUST READ THE QUESTION CAREFULLY. 


Marking key

	Description
	Mark

	[image: ]Diagram






· ½  mark drawing supply curve shifts to left from S to S + t
· ½ mark for showing an inelastic D curve
· 1 mark labelling DWL and efficiency areas (CS, PS, DWL)

Description
· Shift in the S curve by the amount of the tax, S +t Qty decr, price incr – 1 mark
· Fall in TS – explain decrease in CS, decrease in Ps, increase in tax revenue – 1 mark
· Creation of a DWL due to fall in TS  inefficiency (goods between Qe and Qe1 not traded) – 1 mark
· Impact of inelastic Demand: reduces effect on DWL so not as inefficient, TR maximised, Consumer bears more of the tax – 1 mark
	








2 marks







4 marks

	TOTAL
	6 marks












Sample Answer
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Question 27 	(12 marks)
Average – 7/12 (58%)
The edited extract below is from an article by Julian le Grand, published in Ethics Magazine in 2021.
Equity versus Efficiency: The Elusive trade-off

The objectives of equity and efficiency appear high on the list of most governments. Indeed, most government initiatives are assessed on their ability to promote equity, fairness and justice as well as ensuring that it does not create inefficiencies.

It is commonly asserted that in most situations there will be a trade-off between these two objectives – that is, the increase of one will decrease the other. For example, a welfare system that reduces poverty, thus promoting greater equity, may also reduce individuals’ incentives to work or save, thus creating inefficiency. Another example concerns universal education, widely thought to promote equality of opportunity and thus equity but criticised by some of reducing educational excellence and therefore efficiency. 

Governments also directly interfere in markets by setting price floors to promote producer equity and price ceilings to promote consumer equity. Both actions come at the cost of market efficiency. Some governments have sought to use subsidies to avoid the trade-off between equity and efficiency but there is still a reduction in the efficiency of the market.

(a) Identify from the article one example of a Government policy for each of the following:   
      
Comments
· Read the question – the answer in the article.  Good idea is to read the questions before the article so you know what you are looking for.  If your paper has not got key words, concepts and definitions highlighted and notes written around the article you have not analysed if deep another
· Many students got the concepts the wrong way around. Remember, everything in the syllabus is examinable.  This is a small component and may not have been high on the list of things to study.  The lesson is, everything must be coverered.

Marking key
	[bookmark: _Hlk73891003]Description
	Mark

	· Vertical equity – welfare system
· Horizontal equity – universal education
	1 mark
1 mark

	TOTAL
	2 marks




(b) The minimum wage is an important government policy. Explain the trade-off that may exists between efficiency and equity as a result of this policy.	(2 marks)                                                                                                                                                                           

Comments
· All questions in the exam must be based on the syllabus. Sometimes you need to think hard about where the question fits in the syllabus.  The minimum wage is a price floor.  Once this is established – the answer falls into place

Marking key
	Description
	Mark

	A variety of answers may occur here (1/2 mark each)
· Essentially a price floor
· Guarantees young and unskilled workers a minimum wage - equity …. However
· Creates a surplus (of labour)
· Creates a DWL  - inefficiency 
	




1-2 marks

	TOTAL
	2 marks


(c) A subsidy is a grant paid to producers by the government, with the purpose of reducing costs and increasing output.  With the aid of the diagram below, explain why subsidies to producers are inefficient, even though both consumers and producers benefit in terms of price and quantity.   									(3 marks)  
Qe
Quantity
Price


                S (Supply)
			
A
		   P2						            S1 (Supply + Subsidy)
B	C	
		   Pe				    		
						E
			D	F
		   P1
		G

				 Demand

					   			                                  			

Comments

· Your teachers love this questions.  It gets to the very heart of a DWL and inefficiency in the market.  Read the answer key carefully and follow the letter trail.
· The main error was that B+C was the increase in producer surplus not the total producer surplus – remember that producers now receive a higher price P2.  D+F is the increase in consumer surplus not the total consumer surplus as consumers now pay a lower price P1.
· The cost of the subsidy P1P2  x Qe is larger than the benefit gained and thus a DWL is created. A subsidy is ineffecient
· Remember what a DWL is .  It is a loss of welfare to the economy.  A decline in living standards.  It is a value.

Marking key

	[bookmark: _Hlk73893104]Description
	Mark

	· The increase in consumer surplus (D+F) plus the increase in producer surplus (B+C)
· Is less that the cost of the subsidy to gather those gains (B+C+D+F+E)
· The increase producer and consumer surplus less the cost of the subsidy results in a DWL (E).  The subsidy is inefficient and creates a cost to society. 
	
1 mark
1 mark

1 mark

	TOTAL
	3 marks











(d) Demonstrate and explain why a price floor will cause market inefficiency.              (5 marks)  

Comments
· Diagram well done.
· Must use labels as well as surplus analysis to demonstrate the inefficiency
· Charts can be used for illustrative purposes but must still be explained.


Marking key


	Description
	Mark

	Diagram[image: ]







· ½ mark for demand and supply curves
· ½ mark for position of price floor
· ½ mark for price and quantity labels
· ½ mark for efficiency analysis labels

Description
· 1 mark - When a price floor is imposed by government, the price is set above market equilibrium 
· 1 mark - Quantity demanded contracts and quantity supplied expands and a surplus is created (QD – QS)  CS rises, PS falls
· 1 mark - DWL created, the floor is inefficient
[image: ]



	



2 marks















3 marks

	TOTAL
	5 marks













Sample Answer
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Section Three: Extended answer					          40% (40 Marks)
This section contains Four (4) questions. Answer two (2) questions. Write your answers in the answer booklets provided and number your answers clearly.

Suggested working time: 80 minutes.
______________________________________________________________________________

Question 28	(20 marks)

Average – 70%

(a) Explain, with the use of examples, five non-price factors that can affect the level of demand	 (10 marks) 

Comments
· Overall students did very well
· Many students confused “factors affecting Demand” with “factors affecting elasticity of demand”. MUST READ THE QUESTION CAREFULLY. 
· Time and need v luxury are elasticity concepts.
· For prices of related goods, students must discuss BOTH substitutes and compliments
· Advertising, tastes, role of technology are all under the banner of “tastes and preferences” – they are not 2 marks each on their own.


	Marking Key


	Description
	Mark

	2 marks for each non-price factor 
For each non-price factor: 1 mark for description of factor and 1 mark for example/elaboration

Non-price factors affecting demand:
· Level of disposable income (must distinguish between normal and inferior goods)
· The price of related goods (must distinguish between substitutes and complements)
· Tastes and preferences (role of technology, advertising etc.)
· Expectations of consumers (future expectations determine whether purchases are brought forward or delayed)
· Demographic factors (size and age composition and changing demand for goods and services)
· Government policy (Interest rates, subsidies)

	






2 marks each

	TOTAL
	10 marks









(b)     Explain, using examples, the concepts of consumer and producer surplus.  Use a demand/supply model to demonstrate and explain why a market operating at equilibrium is efficient.			(10 marks)
Comments
· Overall students did very well
· Structure poor – many started with a model. Should start with definitions
· Many students used the term ‘cost’ instead of price in defining Consumer Surplus. 
· Many forgot to use examples. “Explaining the concepts” is more than just defining.
· Diagrams were good – well labelled
· Very few defined Total Surplus properly

Marking Key

	Description
	Mark

	Consumer and producer surplus
Students may use a numerical or written description as an example
· Consumer surplus is the difference between what a consumer is prepared to pay and what they actually pay (the difference between total benefits and expenditure) – example must be given

· Producer surplus is the difference between what a producer is willing to receive (their cost of production) and what they actually receive (the difference between total revenue and the cost of production). Example must be given.
Diagram
[image: ]






· ½ mark for demand and supply 
· ½ mark for labelling price and quantity
· ½ mark for labelling CS and PS
· ½ mark for labelling equilibrium

Market efficiency
· Explanation of market efficiency. This is where we have the most efficient allocation of resources.
· Total surplus is a measure of the net benefits to society from both production and consumption of a good. It is the sum of CS and PS. 
· It is also a measure of economic efficiency, and this is only maximised at equilibrium.
· There is no dead weight loss. Under or over production will create a deadweight loss and reduce total surplus.
	


1-2 marks



1-2 marks













2 mark





1 mark
1 mark
1 mark

1 mark



	TOTAL
	10 marks







GOOD ANSWER – QUESTION 28
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Question 29	(20 marks)

Average – 68%

(a)	Explain, using examples, the difference between negative production externalities and positive consumption externalities.	(8 marks)

Comments
· Definitions completed to a high standard.  
· As always. give a couple of examples.  Examples should be contemporary and realistic.  This is where your reading, watching and listening to news events and other sources of economic information become invaluable.
· Many students had the DWL area incorrectly positioned (Tip: always points to the new equilibrium level)

Marking key

	Description
	Mark

	Negative production externalities - side effect of production (economic activity) that has a cost on a third party and this cost is not included in the market.
Examples – air pollution from driving cars and flying on planes, using fossil fuels causing global warming, pollution affecting the health of local residents. (must explain the 3rd cost)


Qty

	Diagram
	 1 marks for shift in Supply (Sp to Ss + labelling
	 1 mark for correct identification of the DWL 






Positive consumption externalities are positive side effects on 3rd parties as a result of consuming a good or service – education, vaccination (must explain the 3rd party benefit)
Qty


	Diagram
	 1 marks for shift in Supply (Sp to Ds + labelling
	 1 mark for correct identification of the DWL 







	
1


1





2





1

1



2




	TOTAL
	8 marks



(b) ‘Electric Vehicles provide significant external benefits to the economy’. Outline any two positive consumption externalities and, using a model, explain how a subsidy to consumers may correct the market failure associated with electric vehicles.	(8 marks)

Comments
· Some confusion over subsidies to consumers (which shifts demand) and subsidies to producers (which shifts supply).  Read the question carefully – it says a subsidy to consumers.
· Questions also only asks how the market failure is corrected.  No need for surplus analysis
· Remember the size of the subsidy is equal to the external benefit. The vertical distance the supply curve shifts.
· The key point at the end of this must be ‘The subsidy has corrected the market failure, eliminated the DWL, and is now operating efficiently’
· Once again, careful explanation of the diagram and use of labels will make sure you cover the requirements

Marking Key

	Description
	Mark

	Positive Consumption externalities must include explanation/examples
· Less noise 
· No C02 emissions
· Lessen impact on global warming
· Less dependence on oil transportation exploration

ModelQty







· 1 mark for labelling and shift in demand Dp to Ds (subsidy)
· 1 mark for correctly demonstrating value of subsidy Po P2 x Qo

Explanation

· To internalise a positive externality the government can pay a subsidy to consumers equal to the external benefit, P2Po
· The subsidy shifts the consumer's private demand curve (Dp) to the social demand curve (Ds)
· Producers receive Po but the consumers only pay P2 (after the subsidy) and the quantity is increased to Qo. 
· The subsidy has reduced the price to consumers and increased the quantity consumed and the market is now operating at the social optimum PoQo. The subsidy has corrected the market failure, eliminated the DWL and is now operating efficiently. 
	

2 marks














2 marks





1 mark

1 mark

1 mark

1 mark

	TOTAL
	8 marks




(c) Other than a subsidy, discuss two other options that could be used to encourage consumers to purchase an electric vehicle.                                                                                       (4 marks)


Comments
· When giving options, try to make two completely different points.  For example, although you have been awarded marks this time, you should avoid making advertising and education two separate points.  They are both very similar (both aim to inform consumers of the benefits) and probably should be the one point. Select something else completely different so you can widen your discussion.
· The question says ‘Discuss’.  The question wants you to think about the option and give a balanced argument.  This is a high order question.  Not many students reached this high level and although awarded narks at this stage, more ‘discussion’ is required.

Marking key

	Description
	Mark

	Must refer to example and exactly how it encourages consumers – 1 mark point and 1 explanation
· Reduced stamp duty/ license
· Road privileges – parking, access lances, CBD access
· Bans or limits on petrol vehicles (legislation)
· Provision of recharging stations – infrastructure 
· Education programs
· Advertising 
	

2 each


	TOTAL
	4 marks
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Question 30	(20 marks)

Average –64 %
		
(a) Outline two reasons why governments provide public goods.				 (4 marks)

Comments
· Generally completed well.  Once again – examples need to be varied.  Look at the mark allocation.  Each concept is for two marks.  This requires a significant outline and at least a couple of examples to show your depth of understanding

Marking key

	[bookmark: _Hlk73983709]Description
	Mark

	· Private market does not meet all our needs. In the private market producers can make a profit because they will be able to exclude non-payers from consuming their product. If non-payers cannot be excluded, this removes the incentive for the private sector to produce them. – lighthouse, street lighting, footpaths, national defence

· Some goods need to be provided to everyone at a fair price.  These are natural monopolies. Water, gas, electricity.  If in private hands, consumers could be exploited.  Everyone needs a reasonable standard of living.
	


2 marks



2 marks

	TOTAL
	4 marks




(b) Explain the difference between common resources and public goods.  		 (8 marks)

Comments
· Students must use the concepts of rival and nonrival, excludable and non-excludable to help differentiate the two concepts
· The marks allocated were 8.  This equates to working time of 16m and writing length of about half a page.  You were asked to explain.  You must not only explain the concept but how the examples also need to be explained.  For example – explain why a lighthouse is non-rival and non-excludable.

Marking key

	Description
	Mark

	Public good:
· non-rival – everyone can consume the good/service at the same time.  One persons use does not exclude others from using.
· non-excludable – Non-payers or free-riders cannot be excluded
· More than one example required and explained – lighthouses, suburban roads, national defence, national parks, free to air television and public broadcast radio
Common resource:
· Non-excludable – anybody can access these goods and they have no price
· Rival – consumption by one person affects the consumption of others. 
· More than one example required and explained – natural resources such as fish stocks, the atmosphere, and roads that become congested during peak times

	

2 mark


2 mark



2 mark



2 mark

	TOTAL
	8 marks


	
(c) Discuss four policy options available to the government to deal with the market failure associated with common resources.		(8 marks)

Comments
· Once again, when giving options, try to make four completely different points.  For example, fish size for herring, fish size for tuna, bag limits for crayfish and abalone, spearfishing of crayfish and hook sizes are all just examples of the one point – regulations and thus are awarded only one mark as a group.  

Marking key

	Description
	Mark

	· ½ mark for point and 1 mark for discussion and ½ for example
· 
· Regulate the use of common property 
· Educate people about the dangers of overuse/ moral suasion
· Legislation – Fines/punishment/Bans
· Legislation – creation of nature reserves, parks, sanctuaries
· Sell property rights - market based solutions
· Self-regulation

	





2 marks each

	TOTAL
	8 marks
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Question 31										(20 marks)

Average – 55%

(a) Describe, with the use of Australian examples, four features of oligopolistic markets.	
	(8 marks)

Comments
· Structure generally poor. Students should start by defining oligopolistic markets. 
· Too many students used dot points, instead of short paragraphs
· Use of examples when describing the features was also poor

Marking key

	Description
	Mark

	1 mark for each feature and explanation and 1 mark for examples taken from Australian Oligopolies which could include the grocery market (Coles and Woolworths dominant – duopoly), Mobile phone market (Telstra, Optus and Vodafone dominant – oligopoly), the Banks (ANZ, CBA, WBC, NAB)

There are a small number of firms in the market reducing competition. 
restrictions on entry to market (Barriers to entry). This can be due to government regulation (government monopoly such as Australia Post), patents, technology barriers, start-up costs such as capital requirement, economics of scale, licensing requirements, brand proliferation. 
Firms with market power can become price makers. This means firms can, to some extent influence the prices they charge as
differentiated their products with use of adverting and building brand loyalty. 
The result of an imperfect market will be a tendency for firms to exploit the market as they seek to maximise profits. The variations in either price or output will maximise their private interest, but overall economic welfare of the society will be lower than for a competitive market.

	








2 marks each

	TOTAL
	8 marks






(b) Discuss two anti-competitive behaviours used by firms and demonstrate with a model how significant market power can influence market efficiency.	(8 marks)


Comments
· Structure generally poor. Students should start by defining anti-competitive behaviour. 
· Too many students used dot points, instead of short paragraphs
· Depth of examples was poor – very few used real cases
· Market power models well done
· Explanation of models average. Many not referring to changes in P and Q. Still many students not stating HOW consumer surplus falls (pay more receive less)

Marking key

	Description
	Mark

	Anti-competitive behaviour refers to any agreements or arrangements between firms that seek to restrain competition and thereby remove the automatic regulation that comes from competitive markets.
1 mark explanation and 1mark examples.  Business practices that reduce competition include:
Cartel
Collusion
Market sharing
Collusive Tendering
Predatory pricing
Resale Price Maintenance
Exclusive Dealing
Collective Boycotts
Mergers

Diagram of Market Power
[image: ]
1 mark for increase in price set by firm above equilibrium price. Reduction in Q from equilibrium (1/2 marks without arrows)
1 mark for label of CS, PS and DW





Explanation of diagram
· Market is in equilibrium at PeQe (market is efficient, CS, PS, TS maximised)
· Monopoly or market power decreases or restricts output from Qe to Q1, As a result Price increases from Pe to P1
· CS falls – consumers pay more, receive less, PS rises – producers produce less but gain a higher price so receive more profit
· TS falls and DWL created as goods between Qe and Q1 are not being traded  loss of economic welfare
	







4 marks










2 marks







2 marks







	TOTAL
	8 marks








(c) Outline the four main roles of the Australian Competition and Consumer Commission (ACCC) in ensuring greater market efficiency.	(4 marks)

Comments
· Outline does not mean list. For full marks must give and example of how the ACCC goes about that role
· Many students gave vague responses, and had clearly overlooked the specific roles.
· To give for ways it protects consumers is not correct (only 1 mark)


Marking key

	Description
	Mark

	Each role should be outlined with examples
· maintaining and promoting competition – petrol price watch
· protecting the interests and safety of consumers, and supporting fair trading in markets affecting consumers and small business – product recalls
· promoting the economically efficient operation of, use of, and investment in infrastructure, and identifying market failure – gas, electricity, communications
· undertaking market studies and inquiries to support competition, consumer and regulatory outcomes – research, engaging with groups, education.
	



1-4 marks





	TOTAL
	4 marks
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Question 25 . IZ (12 marks)

The edited extract below is from an article by Kirsteen Mackay, published online on 25 February
2021.

Will iron ore prices continue to rise?

During February, investment bank Credit Suisse forecast the price of iron ore reaching $150 per
tonne in 2021. Two weeks later it had exceeded that and today is around $164. That is the highest
it's been in nearly a decade. The reason for the price rise is increasing demand and decreased

supply. -

Iron ore is a core component in the production of steel and this product is used extensively in
shipbuilding, construction, and manufacturing. The world's biggest iron ore importer is China and it
is continuing its massive construction boom. However, it is not just China seeing an increase in
demand for steel. The US and EU are also in the market for steel and with emerging markets
modernising their infrastructure and striving for a middle-class lifestyle, demand for iron ore
continues to soar.

The world’s biggest iron ore exporting countries are Australia and Brazil. However, exports of iron
ore from Brazil collapsed after an environmental catastrophe in January 2019, when a mining waste
dam burst, killing 270 people. -

Higher prices encourage increased production of iron ore. If this happens, then it should offset the
supply shortages. Many new iron ore projects are in the pipeline or already underway.

So, will iron ore prices continue to rise? It seems short-term they could, but long-term it will depend
on how quickly the supply chains stabilize.

(a)  Identify from the article, one demand and one supply factor contributing to the rise in iron ore
prices. (2 marks)

Demand factor: ('/\5&\‘?:. ek \
A cordwedion oo N Oe

Supply factor:
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(b) Describe and demonstrate the changes in the iron ore market during February. (4 marks)

Diagram:
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(c)

The article indicates that many new iron ore projects are in the pipeline or already underway
to offset the potential shortages in the iron ore market in the future.

Use a demand and supply diagram to explain how this will affect the market for iron ore.
(4 marks)

Diagram:
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(d) Explain whether the supply of iron ore is likely to be price elastic or lnelastlc’7

(2 marks)
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Question 26 | L (12 marks)
Elasticity in the market for Alcoholic Beverages

Many new laws and policy discussions are related to the consumption of alcoholic beverages. For
example, policies relating to under-age drinking, binge drinking and driving while under the influence
of alcohol, have been an important part of the discussion regarding alcohol consumption in Australia.
Economists have an important role in this debate. Information on price elasticity of demand and
income elasticities, enables policy-makers to predict the impact of new taxes on alcohol
consumption. Use the following predicted estimates of elasticity to answer the questions that follow.

Price elasticity of demand for beer 0.82
Price elasticity of demand for wine 0.82
Income elasticity of demand for beer 1.04
Income elasticity of demand for wine 1.25
(a) i If th;e wine price rdse by 10%, by what percentage would demand for wine fall? (;‘L markg

 PED= %Aa % %No - @

- oﬁgp 9’[&@\ O\ / o
DN = BV %\W

ii. If the quantity of wme demanded rose by 5.4%, as a result of the 10% rise in the price of
beer, calculate the cross elasticity of demand. Show your working below. (2 mark)

XEv= #0q, * /"APBJ .
XD = S axo - _ﬁ@
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The income elasticity of wme is higher than for beer. Explain what this means and suggest
why it is higher for W|ne compared to beer. & M o a g (2 marks)
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(c) Assume the State Government has decided to impose a tax on the production of beer. Use
the data from the table, to assist in demonstrating and discussing the likely impact of the tax
on total surplus and the efficiency of the market. (6 marks)
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Question 27 (12 marks)
The edited extract below is from an article by Julian le Grand, published in Ethics Magazine in
021.

Equity versus Efficiency: the elusive trade-off

The objectives of equity and efficiency appear high on the list of most governments. Indeed, most
government initiatives are assessed on their ability to promote equity, fairess and justice as well as
ensuring that it does not create inefficiencies.

Itis commonly asserted that in most situations there will be a trade-off between these two objectives
- that is, the increase of one will decrease the other. For example, a welfare system that reduces
poverty, thus promoting greater equity, may also reduce individuals’ incentives to work or save, thus
creating inefficiency. Another example concerns universal education, widely thought to promote
equality of opportunity and thus equity but criticised by some of reducing educational excellence and
therefore efficiency. .

Governments also directly,,injeﬂere in mai'kgats by setting price floors to promote producer equity and
price ceilings to promote consumer equity. Both actions come at the cost of market efficiency. Some

governments have sought to use subsidies to avoid the trade-off between equity and efficiency but
there is still a reduction in the efficiency of the market.

(a) Identify from the article one example of a Government policy for each of}he following:

i. Vertical Equity \1\9-)\9% — Qs

R R T e

* ii. Horizontal Equity \ / /»( 1 mark)

Pzt Upgamal odyamn [

M{O\/ﬁmark)
i
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Band

(b)  The minimum wage is an important governmen
between efficiency and equity, as a result of thi

t policy. Explain the trade-off that may exist
s pol{i&/. (2 marks)
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(c) A subsidy is a grant paid to producers by the government, with the purpose of reducing costs
and increasing output. With the aid of the diagram below, explain why subsidies to
producers are inefficient, even though both consumers and producers benefit in terms of
price and quantity. (3 marks)
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(d)  Demonstrate and explain why a price floor will cause market inefficiency, (5 marks)

Diagram: Apceatiat
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Chapter 5 Market failure

Positive externalities

Externalities are not always bad! Positive externalities create an external
benefit for third parties. How many health clubs or gyms ate in your area?
The membership fee gives the consumer the right to use the equipment and
get expert advice to improve their fitness and general well-being. The first
and second parties in this market are the buyer and seller. A number of third
or external parties also benefit from the private transaction - for example, the
member’s employer. A healthy, fit worker is more likely to be a productive
worker. If this is the case, some of the benefits of the transaction have ‘spilled
over’ to the third party. A student entering university in Australia pays
several thousand dollars in HECS (Higher education contribution scheme)
fees. These can be paid up-front or deferred until a threshold income is
reached. The private benefit of further education is the extra salary which the
student will receive. But society also gains in the long run, because it has a
more skilled and productive workforce. Society has thus enjoyed an external
benefit from the individual’s decision to further their educaf

Figure 5.4 analyses a typical positive externality such as the consumption of
education. The supply curve S in Figure 5.4 represents the costs of education,
while the demand curve Dp represents the private benefits of consumption.
If only private benefits are taken into account, the equilibrium quantity in
this market is Qe, and the equilibrium price is Pe. But the private market fails
to recognise the external benefits of education to society. To determine the
optimal or efficient output we need to consider all benefits of consumption -
private and external. Social benefit is equal to private benefits plus external
benefits. In Figure 5.4, the social demand curve is Ds. The ‘correct’ or efficient
price and quantity is where the Ds curve intersects with the supply curve -
price should be Po and quantity should be Qo.

Figure 5.4 A positive externality
Positive Consumption Externality

external
In the case of a positive consumption
externality, such as education or
health, there is a divergence between
Dp and Ds - the external benefit. The
market equilibrium is where Dp = S
with price Pe and quantity Qe. The
market fails because it overproduces
- the optimal price and quantity,
considering external benefits, is Po
and Qo where Ds = S.
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Positive Consumption Externality
Price

To internalise a positive externality,
the government can pay a subsidy
to consumers equal to the external
benefit. The subsidy is equal

to P2P0. The subsidy shifts the
consumer’s private demand curve
(Dp) to the social demand curve
(Ds). The price paid by consumers
is decreased to P2 and quantity is
increased to Qo.

Po

Pe

P2 Ds

Qutput

this case, the government could pay a subsidy to either the consumer or the
producer equal to the external benefit. The payment of the subsidy would
shift the market from the equilibrium price and quantity of Pe and Qe to the
optimal combination of Po and Qo. The subsidy has the effect of reducing
the price paid by consumers and increasing consumption. In Australia, the
government not only subsidises the cost of education and health services but
also provides free public schools and hospitals.

Classifying goods

The price system normally enables markets to provide the efficient quantity
of a good because prices send the right signals to both consumers and
producers. The market ensures that people can buy essential goods such as
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